## PURCHASING DEPARTMENT COMPARISON OF BIDS

## INVITATION #24-57

Grass Cutting & Trimming, Leaf Removal, Mulching & Shrub Pruning of Shrubs (59 locations)

Bid Opening: 11:30 am March 7, 2024 Parks & Recreation - Nicole Banks

Bidders		M. Neves Ir	nc	Ciro Carbone & Sons, Inc*	
	Base Bid( Grass Mowing & Trim )	\$34,560.00		\$38,640.00	
	Base Bid(Leaf removal)	\$17,250.00		\$16,850.00	
	Base Bid(Mulching)	\$5,400.00		\$5,200.00	
	Base Bid(Pruning)	\$6,575.00		\$7,725.00	
	TOTAL BASE BID	\$63,785.0	)	\$68,415.00	
	<b>OPTION 1- Total for Mulching</b>	\$5,000.00		\$4,750.00	
	<b>OPTION 2 - Total for Pruning</b>	\$3,080.00		\$3,800.00	
	OPTION 3 - Weed Removal	\$2,200.00		\$2,600.00	
	OPTION 4 - Total for Branch Removal	\$3,520.00		\$3,800.00	
Award Recommended To:					
Base Bid	Date	Option 1	Date	Chief Procurement Officer	Date
Leaf Removal		Option 2	Date	Mayor or her designee	Date
Mulching		Option 3	Date		
Pruning		Option 4	Date	Vendor#, Acct & Org#	
•		4111		NOTES REGARDING SUBMI*  *Total corrected by Excel	TTED BIDS
Department Head	Date				

Bidders	per year		M. Neves Inc		Ciro	Ciro Carbone & Sons, Inc		
Base Bid - MA50:C108owing & Trimming		Unit	t Price	Annual	Unit Price	Annual		
1. Lewis Tee. along both sides up to bridge from Washington St. plus all islands	12	\$50	0.00	\$600.00	\$60.00	\$720.00		
East Side Parkway Reservation, triangle and intersection at Newtonville Ave.	12	\$50	0.00	\$600.00	\$55.00	\$660.00		
Washington St. gutterline from Vietnam Memorial to last parking meter (no islands)	12		5.00	\$900.00	\$70.00	\$840.00		
Richardson St. parking lot + Richardson St. street gutterline and fence	12	\$90	0.00	\$1,080.00	\$100.00	\$1,200.00		
5. Pearl St. parking lot	12	\$50	0.00	\$600.00	\$55.00	\$660.00		
6. Newton Corner gutterlines	12	\$50	0.00	\$600.00	\$60.00	\$720.00		
7. Bennington Path	3	\$10	00.00	\$300.00	\$200.00	\$600.00		
8. St. James Street (bridge) gutterline at Mass Pike heading towards Charlesbank Rd	12	\$50	0.00	\$600.00	\$50.00	\$600.00		
9. Charlesbank Rd. along fence heading toward Brighton	12	\$50	0.00	\$600.00	\$50.00	\$600.00		
10. Washington St. gutterline from Jewelry Store to Sullivan Tires includes Walker Park	12	\$90	0.00	\$1,080.00	\$175.00	\$2,100.00		
11.Davis St. gutterline along Mass Pike (by Police Annex)	12	\$50	0.00	\$600.00	\$50.00	\$600.00		
12. All New West Newton islands	12	\$50	0.00	\$600.00	\$100.00	\$1,200.00		
13. Farquhar Rd./Bowers St. along Mass Pike including two street berms adjacent to 439 Newtonville Ave and 80-86 Bowers St	12	\$50	0.00	\$600.00	\$60.00	\$720.00		
14. Islands and gutterlines at Newtonville Ave. and Walnut St. including up to bridge	12	\$50	0.00	\$600.00	\$60.00	\$720.00		
15. Tody's islands (expanded islands on roundabout)	12	\$50	0.00	\$600.00	\$40.00	\$480.00		
16.West Newton parking lot gutterline	12	\$50	0.00	\$600.00	\$55.00	\$660.00		
17. Elm St. parking lot	12	\$50	0.00	\$600.00	\$55.00	\$660.00		
18. Adams St. parking lot	12	\$50	0.00	\$600.00	\$55.00	\$660.00		
19. Chapel St. parking lot	12	\$50	0.00	\$600.00	\$55.00	\$660.00		
20. Washington St. borders by Mass Pike both sides and back around to Tody's; including stairs leading from Washington St. to Border St., but not islands at funeral home	12	\$75	5.00	\$900.00	\$100.00	\$1,200.00		
21. Islands at Auburn St. and Washington St.	12	\$50	0.00	\$600.00	\$40.00	\$480.00		
$22.\ Comm.\ Ave.\ overpass\ at\ Robinhood\ Rd.\ both\ sides\ of\ street\ and\ bridge+Robinhood\ Rd.\ border+area\ off\ Rand\ Tee.$	12	\$50	0.00	\$600.00	\$50.00	\$600.00		
23. Pine St. dump gutterline /border + gutterline/border across street	12	\$50	0.00	\$600.00	\$40.00	\$480.00		
24. Auburndale Sq. parking lot	12	\$50	0.00	\$600.00	\$55.00	\$660.00		
25. Auburn St. along Mass Pike at parking meters including MBTA parking lot gutterline and berm	12	\$50	0.00	\$600.00	\$55.00	\$660.00		
26. 2 Borders/gutterlines at Hess Station plus island	12	\$50	0.00	\$600.00	\$55.00	\$660.00		
27. Grove St. gutterlines at bridge (no islands)	12	\$50	0.00	\$600.00	\$60.00	\$720.00		
28. Route 16 (heading east) from parking lot and around corner + island at Grove St.	12	\$50	0.00	\$600.00	\$60.00	\$720.00		
29. Route 16 bridge area (no islands)	12	\$50	0.00	\$600.00	\$55.00	\$660.00		
30. Islands at Washington St. and Beacon St	12	\$50	0.00	\$600.00	\$45.00	\$540.00		
31. Waban Sq. T Bridge both sides	12	\$50	0.00	\$600.00	\$35.00	\$420.00		
32. Triangle plus island at Evelyn Rd. and Comm. Ave.	12		0.00	\$600.00	\$35.00	\$420.00		
33. Bullough's Pond border on Walnut St., Comm. Ave. and Bullough Pk.	12		0.00	\$600.00	\$100.00	\$1,200.00		
34. Newton Centre parking lot	12		0.00	\$600.00	\$60.00	\$720.00		
35. Pelham St. parking lot	12		0.00	\$600.00	\$50.00	\$600.00		
36. Pleasant St. parking lot	12		0.00	\$600.00	\$50.00	\$600.00		
37.Cypress St. parking lot	12		0.00	\$600.00	\$60.00	\$720.00		
38. Four corner islands and sidewalk gutterlines	12		0.00	\$600.00	\$40.00	\$480.00		
39. Brigham House + parking lot	12	\$50	0.00	\$600.00	\$60.00	\$720.00		
40. Newton Highlands at Route. 9 from speed limit sign to first house plus triangle indlusing traffic islands in front of National Lumber	12	\$50	0.00	\$600.00	\$50.00	\$600.00		
41.Islands at Winchester St. and Needham St. and Dedham St.	12	\$50	0.00	\$600.00	\$50.00	\$600.00		
42.Triangle at Elliot St. and High St.	12	\$50	0.00	\$600.00	\$45.00	\$540.00		
43.Oak St. and Chestnut St. square	12	\$50	0.00	\$600.00	\$45.00	\$540.00		
44.Chestnut St. parking meter area	12	\$50	0.00	\$600.00	\$50.00	\$600.00		
45.Islands/Borders at Rte. 9 and Elliot St.	12	\$50	0.00	\$600.00	\$45.00	\$540.00		
46.Island at California St and Crafts St.	12	\$50	0.00	\$600.00	\$35.00	\$420.00		
47. Island at Waltham St and River St.	12	\$25	5.00	\$300.00	\$35.00	\$420.00		
48. Islands at Grant Ave. and Ward St.	12	\$25	5.00	\$300.00	\$35.00	\$420.00		
49. Islands at Waverly Ave. and Ward St.	12	\$50	0.00	\$600.00	\$35.00	\$420.00		
50. Island at North St. and Crafts St.	12	\$25	5.00	\$300.00	\$35.00	\$420.00		
51. Triangle at Mossman St. and Maynard St.	12		0.00	\$600.00	\$45.00	\$540.00		
52. Island at Parker St. and Wheeler Rd.	12		5.00	\$300.00	\$35.00	\$420.00		
53. Island at Parker St. and Dedham St.	12		5.00	\$300.00	\$35.00	\$420.00		
54. Island at Rosalie Rd. and Dedham St.	12		5.00	\$300.00	\$35.00	\$420.00		
55.Island at Dedham St., Nahanton St and Brookline St.	12		0.00	\$600.00	\$50.00	\$600.00		
56. Triangle at Pine Grove Ave. and Cornell St.	12		5.00	\$300.00	\$35.00	\$420.00		
57. Border along Mass Pike at Evergreen Ave.	12		0.00	\$600.00	\$60.00	\$720.00		
58. Upper Falls Splash Pad	12		0.00	\$600.00	\$60.00	\$720.00		
59. Parker & Cypress	12	\$50	0.00	\$600.00	\$45.00	\$540.00		
Total: Base Bid - Grass Mowing & Trimming				\$34,560.00	1	\$38,640.00		

Bidders	per year	I	M. Neves Inc		Ciro Carbone & Sons, Inc	
Leaf Removal/Branch Removal		Unit Price	Annual	Unit Price	Annual	
1. Lewis Tee. along both sides up to bridge from Washington St. plus all islands	2	\$200.00	\$400.00	\$200.00	\$400.00	
East Side Parkway Reservation, triangle and intersection at Newtonville Ave.	2	\$200.00	\$400.00	\$200.00	\$400.00	
Washington St. gutterline from Vietnam Memorial to last parking meter (no islands)	2	\$200.00	\$400.00	\$225.00	\$450.00	
Richardson St. parking lot + Richardson St. street gutterline and fence	2	\$400.00	\$800.00	\$325.00	\$650.00	
5. Pearl St. parking lot	2	\$200.00	\$400.00	\$200.00	\$400.00	
6. Newton Corner gutterlines	2	\$100.00	\$200.00	\$125.00	\$250.00	
7. Bennington Path	2	\$300.00	\$600.00	\$150.00	\$300.00	
8. St. James Street (bridge) gutterline at Mass Pike heading towards Charlesbank Rd	2	\$100.00	\$200.00	\$75.00	\$150.00	
9. Charlesbank Rd. along fence heading toward Brighton	2	\$200.00	\$400.00	\$200.00	\$400.00	
10. Washington St. gutterline from Jewelry Store to Sullivan Tires includes Walker Park	2	\$400.00	\$800.00	\$525.00	\$1,050.00	
11.Davis St. gutterline along Mass Pike (by Police Annex)	2	\$200.00	\$400.00	\$175.00	\$350.00	
12. All New West Newton islands 15. Parqunar Rd/Bowers St. along mass Pike including two street perms adjacent to 439 Newtonville Ave and	2	\$100.00	\$200.00	\$100.00	\$200.00	
80.86 Rowers St	2	\$200.00	\$400.00	\$175.00	\$350.00	
14. Islands and gutterlines at Newtonville Ave. and Walnut St. including up to bridge	2	\$50.00	\$100.00	\$75.00	\$150.00	
15. Tody's islands (expanded islands on roundabout)	2	\$50.00	\$100.00	\$75.00	\$150.00	
16. West Newton parking lot gutterline	2	\$200.00	\$400.00	\$75.00	\$150.00	
17. Elm St. parking lot 18. Adams St. parking lot	2 2	\$200.00 \$200.00	\$400.00 \$400.00	\$175.00 \$175.00	\$350.00 \$350.00	
18. Adams St. parking for	2	\$200.00	\$400.00	\$175.00	\$330.00	
19. Chapel St. parking lot	2	\$200.00	\$400.00	\$175.00	\$350.00	
20. Washington St. borders by Mass Pike both sides and back around to Tody's; including stairs leading from Washington St. to Border St., but not islands at funeral home	2	\$225.00	\$450.00	\$325.00	\$650.00	
21. Islands at Auburn St. and Washington St.	2	\$50.00	\$100.00	\$75.00	\$150.00	
$22. \ Comm. \ Ave. \ overpass \ at \ Robinhood \ Rd. \ both \ sides \ of \ street \ and \ bridge + Robinhood \ Rd. \ border + area \ off \ Rand \ Tee.$	2	\$200.00	\$400.00	\$150.00	\$300.00	
23. Pine St. dump gutterline /border + gutterline/border across street	2	\$150.00	\$300.00	\$200.00	\$400.00	
24. Auburndale Sq. parking lot	2	\$150.00	\$300.00	\$175.00	\$350.00	
25. Auburn St. along Mass Pike at parking meters including MBTA parking lot gutterline and berm	2	\$225.00	\$450.00	\$250.00	\$500.00	
26. 2 Borders/gutterlines at Hess Station plus island	2	\$225.00	\$450.00	\$225.00	\$450.00	
27. Grove St. gutterlines at bridge (no islands)	2	\$150.00	\$300.00	\$120.00	\$240.00	
28. Route 16 (heading east) from parking lot and around corner + island at Grove St.	2	\$150.00	\$300.00	\$120.00	\$240.00	
29. Route 16 bridge area (no islands)	2	\$100.00	\$200.00	\$120.00	\$240.00	
30. Islands at Washington St. and Beacon St	2	\$100.00	\$200.00	\$120.00	\$240.00	
31. Waban Sq. T Bridge both sides	2	\$100.00	\$200.00	\$120.00	\$240.00	
32. Triangle plus island at Evelyn Rd. and Comm. Ave.	2	\$150.00	\$300.00	\$150.00	\$300.00	
33. Bullough's Pond border on Walnut St., Comm. Ave. and Bullough Pk.	2	\$225.00	\$450.00	\$300.00	\$600.00	
34. Newton Centre parking lot	2	\$225.00	\$450.00	\$300.00	\$600.00	
35. Pelham St. parking lot	2	\$225.00	\$450.00	\$125.00	\$250.00	
36. Pleasant St. parking lot	2	\$225.00	\$450.00	\$125.00	\$250.00	
37. Cypress St. parking lot	2 2	\$225.00	\$450.00	\$225.00	\$450.00	
38. Four corner islands and sidewalk gutterlines 39. Brigham House + parking lot	2	\$75.00 \$150.00	\$150.00 \$300.00	\$75.00 \$175.00	\$150.00 \$350.00	
40. Newton Highlands at Route. 9 from speed limit sign to first house plus triangle indlusing traffic islands in			•		,	
front of National Lumber	2	\$225.00	\$450.00	\$175.00	\$350.00	
41.Islands at Winchester St. and Needham St. and Dedham St.	2	\$75.00	\$150.00	\$100.00	\$200.00	
42.Triangle at Elliot St. and High St.	2	\$150.00	\$300.00	\$100.00	\$200.00	
43.Oak St. and Chestnut St. square	2	\$50.00	\$100.00	\$50.00	\$100.00	
44.Chestnut St. parking meter area 45.Islands/Borders at Rte. 9 and Elliot St.	2	\$150.00	\$300.00	\$175.00	\$350.00	
45.Islands/Borders at Rte. 9 and Elliot St. 46.Island at California St and Crafts St.	2	\$75.00	\$150.00	\$85.00	\$170.00	
46.Island at California St and Crafts St. 47. Island at Waltham St and River St.	2 2	\$50.00 \$50.00	\$100.00 \$100.00	\$40.00 \$50.00	\$80.00 \$100.00	
47. Island at Waltham St and River St.  48. Islands at Grant Ave. and Ward St.	2	\$50.00 \$50.00	\$100.00	\$50.00 \$50.00	\$100.00 \$100.00	
49. Islands at Grant Ave. and Ward St. 49. Islands at Waverly Ave. and Ward St.	2	\$50.00	\$100.00	\$50.00	\$100.00	
50. Island at North St. and Crafts St.	2	\$50.00	\$100.00	\$40.00	\$80.00	
51. Triangle at Mossman St. and Maynard St.	2	\$75.00	\$150.00	\$75.00	\$150.00	
52. Island at Parker St. and Wheeler Rd.	2	\$50.00	\$100.00	\$45.00	\$90.00	
53. Island at Parker St. and Dedham St.	2	\$50.00	\$100.00	\$45.00	\$90.00	
54. Island at Rosalie Rd. and Dedham St.	2	\$50.00	\$100.00	\$45.00	\$90.00	
55.Island at Dedham St., Nahanton St and Brookline St.	2	\$50.00	\$100.00	\$50.00	\$100.00	
56. Triangle at Pine Grove Ave. and Cornell St.	2	\$50.00	\$100.00	\$50.00	\$100.00	
57. Border along Mass Pike at Evergreen Ave.	2	\$150.00	\$300.00	\$150.00	\$300.00	
58. Upper Falls Splash Pad	2	\$75.00	\$150.00	\$100.00	\$200.00	
59. Parker & Cypress	2	\$75.00	\$150.00	\$50.00	\$100.00	
Total: Leaf Removal/Branch Removal			\$17,250.00		\$16,850.00	

<u>Mulching</u>		Unit Price	Annual	Unit Price	Annual
1. Richardson St. parking lot		\$200.00	\$200.00	\$200.00	\$200.00
2. Pearl St. parking lot		\$200.00	\$200.00	\$200.00	\$200.00
3. Elm St. parking lot		\$200.00	\$200.00	\$250.00	\$250.00
4. Washington St. gutterline from Jewelry Store to Sullivan Tires includes Walker Park	1	\$750.00	\$750.00	\$750.00	\$750.00
5. Auburndale Sq. parking lot	1	\$200.00	\$200.00	\$225.00	\$225.00
6. Newtonville Village	1	\$225.00	\$225.00	\$250.00	\$250.00
7. All New West Newton Islands	1	\$500.00	\$500.00	\$300.00	\$300.00
8. 2 Borders/gutterlines at Hess Station plus island	1	\$225.00	\$225.00	\$250.00	\$250.00
9. Triangle plus island at Evelyn Rd. and Comm. Ave.	1	\$200.00	\$200.00	\$150.00	\$150.00
10. Newton Centre parking lot	1	\$400.00	\$400.00	\$400.00	\$400.00
11. Cypress St. parking lot	1	\$400.00	\$400.00	\$375.00	\$375.00
12. Pelham St. parking lot	1	\$200.00	\$200.00	\$150.00	\$150.00
13. Pleasant St. parking lot	1	\$200.00	\$200.00	\$150.00	\$150.00
14. Brigham House + parking lot	1	\$200.00	\$200.00	\$150.00	\$150.00
15. Newton Highlands at Route 9 from speed limit sign to first house plus triangle including traffic islands in front of national lumber		\$200.00	\$400.00	\$200.00	\$400.00
16. Islands at Grant Ave. and Ward St.	1	\$100.00	\$100.00	\$100.00	\$100.00
17. Islands at Waverly Ave. and Ward St.	1	\$100.00	\$100.00	\$100.00	\$100.00
18. Triangle at Mossman St. and Maynard St.	1	\$100.00	\$100.00	\$100.00	\$100.00
19. Island at Parker St. and Wheeler Rd.	1	\$100.00	\$100.00	\$100.00	\$100.00
20. Island at Parker St. and Dedham St.	1	\$100.00	\$100.00	\$100.00	\$100.00
21. Island at Rosalie Rd. and Dedham St.	1	\$100.00	\$100.00	\$100.00	\$100.00
22. Island at Dedham St. and Brookline St.	1	\$100.00	\$100.00	\$100.00	\$100.00
23. Triangle at Pine Grove Ave. and Cornell St.	1	\$100.00	\$100.00	\$100.00	\$100.00
24. Upper Falls Splash Pad		\$100.00	\$100.00	\$200.00	\$200.00
Total Mulching			\$5,400.00		\$5,200.00

Bidders  Pruning		N	M. Neves Inc		Ciro Carbone & Sons, Inc	
		Unit Price	Annual	Unit Price	Annual	
1. Lewis Tce, along both sides up to bridge from Washington St. plus all islands	1	\$175.00	\$175.00	\$200.00	\$200.00	
East Side Parkway Reservation, triangle and intersection at Newtonville Ave.	1	\$175.00	\$175.00	\$200.00	\$200.00	
3. Washington St. gutterline from Vietnam Memorial to last parking meter (no islands)	1	\$300.00	\$300.00	\$300.00	\$300.00	
4. Richardson St. parking lot + Richardson St. street gutterline and fence	1	\$350.00	\$350.00	\$300.00	\$300.00	
5. Pearl St. parking lot	1	\$100.00	\$100.00	\$150.00	\$150.00	
6 Washington St. gutterline from Jewelry Store to Sullivan Tires includes Walker Park	1	\$350.00	\$350.00	\$500.00	\$500.00	
7. Davis St. gutterline along Mass Pike (by Police Annex)	1	\$150.00	\$150.00	\$150.00	\$150.00	
8. Washington St. gutterline at Court St.	1	\$100.00	\$100.00	\$100.00	\$100.00	
9. All New West Newton islands	1	\$175.00	\$175.00	\$150.00	\$150.00	
10. Farquhar Rd./Bowers St. along Mass Pike	1	\$175.00	\$175.00	\$200.00	\$200.00	
11 Austin St. parking lot/Phillip Bram Way	1	\$125.00	\$125.00	\$150.00	\$150.00	
12. West Newton parking lot gutterline	1	\$250.00	\$250.00	\$175.00	\$175.00	
13. Elm St. parking lot	1	\$175.00	\$175.00	\$275.00	\$275.00	
14. Police HQ's + Police HQ's parking lot + Court House parking lot/ Waltham St. parking lot	1	\$100.00	\$100.00	\$175.00	\$175.00	
		, , , , , , ,			*	
15. Adams St. parking lot	1	\$100.00	\$100.00	\$200.00	\$200.00	
16. Chapel St. parking lot	1	\$100.00	\$100.00	\$200.00	\$200.00	
17. Washington St. borders by Mass Pike both sides and back around to Tody's; including stairs leading from Washington St. to Border St., but not islands at funeral home	1	\$300.00	\$300.00	\$325.00	\$325.00	
18. Comm. Ave. overpass at Robinhood Rd. both sides of street and bridge	1	\$175.00	\$175.00	\$200.00	\$200.00	
19. Pine St. dump gutterline /border + gutterline/border across street	1	\$150.00	\$150.00	\$200.00	\$200.00	
20. Auburndale Sq. parking lot	1	\$150.00	\$150.00	\$125.00	\$125.00	
21. Auburn St. along Mass Pike at parking meters up to MBTA parking lot	1	\$200.00	\$200.00	\$250.00	\$250.00	
22. 2 Borders/gutterlines at Hess Station plus island	1	\$175.00	\$175.00	\$200.00	\$200.00	
23. Grove St. gutterlines at bridge (no islands)	1	\$100.00	\$100.00	\$100.00	\$100.00	
24. Route 16 (heading east) from parking lot and around corner + island at Grove St.	1	\$200.00	\$200.00	\$200.00	\$200.00	
25. Route 16 bridge area (no islands)	1	\$100.00	\$100.00	\$125.00	\$125.00	
26. Triangle plus island at Evelyn Rd. and Comm. Ave.	1	\$100.00	\$100.00	\$125.00	\$125.00	
27. Bullough's Pond border on Walnut St., Comm. Ave. and Bullough Pk.	1	\$100.00	\$100.00	\$175.00	\$175.00	
28. Newton Centre parking lot	1	\$175.00	\$175.00	\$225.00	\$225.00	
29. Cypress St. parking lot	1	\$175.00	\$175.00	\$200.00	\$200.00	
30. Pelham St. parking lot	1	\$125.00	\$125.00	\$125.00	\$125.00	
31. Pleasant St. parking lot	î	\$125.00	\$125.00	\$125.00	\$125.00	
32. Brigham House + parking lot	1	\$175.00	\$175.00	\$200.00	\$200.00	
33. Triangle at Elliot St. and High St.	1	\$100.00	\$100.00	\$100.00	\$100.00	
34. Chestnut St. parking meter area	1	\$100.00	\$100.00	\$175.00	\$175.00	
35. Islands at Waverly Ave. and Ward St.	1	\$100.00	\$100.00	\$100.00	\$100.00	
36. Triangle at Mossman St. and Maynard St.	1	\$100.00	\$100.00	\$125.00	\$125.00	
37. Island at Parker St. and Wheeler Rd.	1	\$100.00	\$100.00	\$100.00	\$100.00	
38. Island at Parker St. and Dedham St.	1	\$100.00	\$100.00	\$100.00	\$100.00	
39. Island at Rosalie Rd. and Dedham St.	1	\$100.00	\$100.00	\$100.00	\$100.00	
40. Island at Dedham St. and Brookline St.	1	\$100.00	\$100.00	\$100.00	\$100.00	
41. Triangle at Pine Grove Ave. and Cornell St	1	\$100.00	\$100.00	\$100.00	\$100.00	
42. Border along Mass Pike at Evergreen Ave.	1	\$125.00	\$125.00	\$200.00	\$200.00	
43. Upper Falls Splash Pad	1	\$125.00	\$125.00	\$200.00	\$200.00	
Total Pruning			\$6,575.00		\$7,725.00	
		Unit Price Annual		Unit Price	Annual	
Option One: Mulching	50	\$100.00	\$5,000.00	\$95.00	\$4,750.00	
Option Two: Hourly Pruning of Shrubs	40	\$77.00	\$3,080.00	\$95.00	\$3,800.00	
Option Three: Hourly Weed Removal of Mulch Beds	40	\$55.00	\$2,200.00	\$65.00	\$2,600.00	
Option Four: Hourly Branch Removal	40	\$88.00	\$3,520.00	\$95.00	\$3,800.00	